

	  �����  ر��      ��
��٦	

����ر                              �
���  ر���   ری���          �
و  �و  ��س                                �!"#     �       

 

122-  ������ �� 	
�� ��
�� �� ������� ������ ������ �
9  �16  �
���
� � �!"�#.%&� ��' (�)� �� ��
�� �� *�+��

,%&� -��. ������ �/0. 1�2 �3 *��
�� 4���  

1  (
3

2
      2 (√3      3 (2      4 (

5

2
  

       �����1:                      ��� � 2� � √9 � 16 � 12 ⟹ 	� � 6  

	
 � √	�2 � 
�2 � �36 � 81

4
� 15

2
 



 � 	
 � 	
 � 15

2
� 6 � 3

2
 

123-  (; �2�<
�  ������ ��8   .��� �� ��
�� 2�=/ .%&� >��?� @�A�B� �)?" 2� �+��
 ��  ��� C�D' �3  �7 

��
�� �� �/0. ��� ��
�� 	�F3 4��� .G�H. 	� G&2 �+��  ���*I2 � ,�H��� 	D!J2�=/ -��. ��� 1�2 �����  

1  (��0�    2 ( CFJK� ���0��    3 (L�M���    4 (������� ������ ������  

 �����3   : L�M���  

  

  

124-  �
�� �� GN�� ������ ����M� L)� �� *�
� L�' O��M�
���  )�� � 90°  ��� (; �2�< *(	
  �	�  ��

 �� ���0� R�3�3
�  ���  %S�� ��� ��' G&2
���� ,%&� -��. *  

1  (1      2 (2      3 ( �� ���/0.1      4 ( �� ��T2 �1  �� ���/0.2  

 �����1   : ��� (;��  �
�   U!V� �� W< �H
��0��	�   �
	� (��) �H=��X��  :W<      

�	�	 � 
	�	 ⟹Z�B� 2� R�.�3 �	�� � 
	
�   �∗� 

	� ∥ �� ⟹W��3 
	
� � 
�
�
	
 ∥ 
� ⟹W��3 �	�� � �

� ���

� ⟹�∗� 
�
� � �

� ⟹ 
� � �
 ⟹!�� 

 � �� ⟹ 

�� � 1  

  

www.konkur.in

forum.konkur.in




	  �����  ر��      ��
��٦	

����ر                              �
���  ر���   ری���          �
و  �و  ��س                                �!"#     �       

 

125-  �� ������ ��� ��
�� ������5  �9 / ������ ��� ��
�� ���0� 	M; �2�< %&� �+�� ������ �. G�H. 	� G&2 [�H

�2 ,%&� -��. *(; �2�< ������ .�H. G���3 ����� %\�� �� ��  

1  (7      2 (√53    3 (4√3    4 (√57  

 �����2   : (; L�' �� �]03 �� �" ���0� �2
�  ��� 	D!J2�=/ G�H. 	� G&2
�#
 �  

 
#"�  W< �H��� CFJK� ���0��
� � 
# � �" � 5 � "� � 4  �'�� 	�*  

 ^0_#� � $  U!V� 2� W��3 OS_ G
��T 	� �`� 2��"�  :  

#� ∥ "� ⟹ #�"� � %% � %� ⟹ $
4

� %% � %� ⟹Z�B� 2� L�a?3 $
4 � $ � %%�      �∗� 

>�# OS_ &����&���� � 1 ⟹ 1
2

� �5 � 5 � $� � %
1
2

� �5 � $ � 9� � %� � 1 ⟹�∗� �10 � $�$�14 � $��4 � $� � 1 ⟹ $2 � 10$ � 28 � 0 
' $ � �5 � √53      b b c             $ � �5 � √53 ⟹ 
� � √53   

126-  *�
� L�' 2��( � 3�
  ��� (; �2�< ������ ��#  ���  R�3�3 ��2  �5  U!V� %+��� �H��� �+�� 
"(  ������ �"2� �H/ *
��� ,%&�  

1  (40    2 (36    3 (32    4 (24  

 �����3   :                           ���X3  )*+,),-. � �/�/0�2 � �2

3
�2 � 4

9
⟹ )*+,)+*.- � 4

5
  

 �'�� %&�2 (; �
 �2 �=�d ��
�� � �H'�� ��'�� e��X� 1�2 U!V� �� �T� G���� 	� 	#�_ �� 
�� %S��� �=�+� .%&� �� ��
�� %S�� ����                

)*+,)*12. � 4)
25

2
) � 8

25
� 32

100
  

127-  L�' 2��2 ���2* (; �2�< ������
�  -��.,%&�  

1  (9    2 (3√10    3 (10    4 (6√3  

 �����1     :: @2�0�&� ��a� �� ���?�&� �� 

�2. �� � 
�2. �� � 
�2. �� � ��. ��. �� 

81 � 8 � 
�2 � 4 � 49 � 12 � 4 � 8 � 12 ⟹ 
�2 � 81 ⟹ 
� � 9  

www.konkur.in

forum.konkur.in




	  �����  ر��      ��
��٦	

����ر                              �
���  ر���   ری���          �
و  �و  ��س                                �!"#     
       

 

128-  L�' 2� ��� C�D' �� ��
�� �� *�
�2  �4  [�\. ������ � L;�� 1�\� *�+��
�  �����
44
3

  L"�+ %&� 

 � 
� ,%&� -��. *  

1  (8    2 (9    3 (6    4 (12    

 �����4   :��� ��  ���	 
��
 ���
�  
��� ��� �� �� ����� � ��� ����� 
��
 ������ ������ ��AD  

�	� ����:                        7
360

� 
��
 ���

248 ⟹ 7
360

� 49
3

248 ⟹ : � 30  

                                              	�∆ 
 ∶ cos 30 � �0@� � �0
4

⟹ 
� � 2√3    


�∆� ∶ cos 30 � ��
� � ��
8

⟹ �� � 4√3 ⟹ �
 � �� � 
� � 2√3 


 � 
� � �
 � 
� � 2√3 � 2√3 � 12 ��
�� 2� 	�0_ (���2  

129-  �M�� 2�=/
�1,10�  *��9, �9�  *
�B, 4�  ���B, 0�  ������ �
��\. .�
��f� �`� 2� *@�A�B� �)?" 2� �2

����' (; 

�� ,%&� -��. *  

1  (21    2 (20    3 (19    4 (18  

 �����1 : �M�� ��B  ������ ��4  �� ������ G� � ���0� ) G
�2 	� K�� �+��MN �3 (�����9, �5� G�&��  

 

�� � 
��F
%&�2 (;

� ���F�� � G�1 � 9�2 � �10 � 5�2 � 4 � 21   �
��\. 
  

130- "�+ G�] Gg+ [�2�� �� L �
�� �� GN�� U!V�
��  GN�� ��� h!J ��
� �
� ��� ������ �� R�3�3 �� *5  �2√6 

 1�2 �� �2iT (; ^0+ *�+��C  h!J ���0� �
�,%&� -��. *  

1  (609    2 (709    3 (759    4 (809  

 �����4 :  

I � I���0�&� � I4��B� � 9�2% � 1

3
9�2% � 2

3
9J2√6K2 � 5 � 809  

   

www.konkur.in

forum.konkur.in




	  �����  ر��      ��
��٦	

����ر                              �
���  ر���   ری���          �
و  �و  ��س                                �!"#     ٤       

 

131-  1�\� �DM� ������ �
� L�' 2�
� �3� ����� *
� ,%&� %&2� ������ -��. ��� �� .%&�  

1  (�� � �
    2 (�� � 
�    3 (�� � ��    4 (�
 � ��  

 �����4 :  

�L � �L�
L� � 
�M� � 
�N
2

O ⟹� � 
�∆ �~
�∆ � ⟹ 
��� � 
�
� ⟹��Q�R �� � 
�  
 

132-  %&� ��
�� �
 2� 4�)� L��� *�
� 	D!J2�=/�$ � 2� ,%&� -��.  

1  (√51    2 (√55    3 (√57    4 (√59  

 �����2 : W< �H!\�� L���� ��� �
��� 	_�)� 	D!J2�=/ 2� G���� 	�
L � 120°  

 ��∆� �=&0H��. ��a�: ��2 � 49 � 81 � 2 � 7 � 9 � cos 60° � 67 ⟹ �� � √67 
�=&0H��. ��a�:  67 � $2 � 16 � 2 � 4 � $ � cos 120° ⟹ $2 � 4$ � 51 � 0 
�∆ � 

⟹∆ ^0��# $ � �2 � √55 ⟹ $ � 2 � √55  
 
 

133-  �M�� �� �� �2iT ��
�� �
���/0.
�2,5�  ����4,1� *   20)�$ ^0_ -��. �� �2 ��,�H. 	� hM� *  

1  (1 , �3    2 (0 , �3    3 (2 , �1    4 (3 , �2  

 �����1 :AB   %&� ��
�� �M�  

 .�� 	 � 
 � �
2

� ��1 , 3�
C�D' � � 1

2

� � 1

2
G�2 � 4�2 � �5 � 1�2 � √13

⟹��
�� �$ � 1�2 � �T � 3�2 � 13 

⟹UQ0 �$ � 1�2 � 4 ⟹ $ � 1 � V2 ⟹ W $ � 1$ � �3
 

 
 

www.konkur.in

forum.konkur.in




	  �����  ر��      ��
��٦	

����ر                              �
���  ر���   ری���          �
و  �و  ��س                                �!"#     ٥       

 

134- T ��� ��
�� ��� �� �M�� �� �2i
�1, �4� 1�\� �  ��� (; ��4$ � 3T � 0  20)� �T C�D' �
��T2 � * ��

,%&� -��. ��
��  

1  (
5

3
    2 (

17

9
    3 (

7

3
    4 (

22

9
  

 �����2 : ��
��  .�� G�H. >�#	�:, X�  20)� �� ��
�� ��H
� �� �]03 �� �'��T ��  

 �
����H� %&� 1�\�� � :   W<	��, X�  

� � 	� ⟹ � � |4� � 3X|
5

⟹ |4� � 3X| � 5� ⟹ 

' 3X � � ⟹ X � 1

3
�    b b c  %&� 	?H� X

3X � �9� ⟹ X � �3� ⟹ 	 � ��, �3�� 
� � 	
 ⟹ � � G�� � 1�2 � ��3� � 4�2 ⟹ 9�2 � 26� � 17 � 0 ⟹Z[\[]Q0 ^ � � 1     � � 17

9

 
135-  ����M� �� 	a�� �
 2�8  �2√7  ��� [0��. �"  �"′  �M� �� �� ��
�� *""′  �M�� 2� �2 	a��
  	� hM� *

 �M�� �!"�# .�H.
 ,%&� -��. *[0��. �
���
� � �3  

1  (4 � 2√2    2 (2/5    3 (4 � √2    4 (3  

 �����3:                   W 2B � 8 ⟹ B � 4 
2a � 2√7 ⟹ a � √7

⟹ b � √16 � 7 � 3 
	a�� j
�D3 ∶   $ � T � 2B ⟹ $ � T � 8 ⟹ T � 8 � $     �∗� 

120k�V�# ∶   $2 � T2 � 4b2 ⟹ $2 � �8 � $�2 � 36 ⟹ ' $ � 4 � √2     √ $ � 4 � √2         
 
 
 
 
 
  

 

www.konkur.in

forum.konkur.in




	  �����  ر��      ��
��٦	

����ر                              �
���  ر���   ری���          �
و  �و  ��س                                �!"#     ٦       

 

136-  �M�� �T�"��0/25, �2� 	\=& [0��.T2 � BT � a$ � 1 � 0  2���� �
���/0. *�'��a,%&� -��. *  

1  (�4    2 (�3    3 (�2    4 (2  

 �����1:                                            T2 � BT � a$ � 1 � 0 ⟹ T2 � BT � Z2

4
� �a$ � 1 � Z2

4
 

⟹ cT � B
2

d2 � �a$ � B2 � 4

4
⟹ cT � B

2
d2 � �a�$ � B2 � 4

4a � ⟹ ef
g& � �:, X� � �B2 � 4

4a , � B
2

�
4h � �a ⟹ ����2�<h � � a

4

 

[0��. " � �: � h, X� � iB2 � 4

4a � a
4

, � B
2

j � k� 1

4
, �2l 

⟹ m � B
2

� �2 ⟹ B � 4                                                              
12

4a � a
4

� � 1

4
⟹ a2 � a � 12 � 0 ⟹ a � 3, �4

 
137-  �T�
 � n 2 1 5�3 0 4

1 0 2
o W
�3�� ^�� �M& ��� �
�2�
3 � -��.*,%&  

1  (p30 6 64q    2 (p30 6 78q     
3 (p24 8 86q    4 (p30 6 86q  

 �����4:                                             

2 � n 2 1 5�3 0 4

1 0 2
o n 2 1 5�3 0 4

1 0 2
o � r 6 2 24 s 


3 � 
2 � 
 � r 6 2 24 s n 2 1 5�3 0 4
1 0 2

o � r 30 6 86 s 
   
  

 

www.konkur.in

forum.konkur.in




	  �����  ر��      ��
��٦	

����ر                              �
���  ر���   ری���          �
و  �و  ��س                                �!"#     �       

 

138-  	�
�3�� �M��2 ��t2 3
4 5

u v t 2 �1�4 3
u � t4 0

0 8
u W
�3�� *v ,%&� -��.*  

1  (t7 9
4 4

u     2 (t7 9
2 �2

u     
3 (t 9 7�4 �4

u    4 (t�9 �7
4 4

u  

 �����3:             t2 3
4 5

uwxy�
v t 2 �1�4 3

uwzzxzzy�
� t4 0

0 8
uwxyR

⟹ 
v� � � ⟹ v � 
!1v�!1  
                                    


 � t2 3
4 5

u ⟹ 
!1 � � 1

2
t 5 �3�4 2

u 
� � t 2 �1�4 3

u ⟹ �!1 � 1

2
t3 1
4 2

u 
v � 
!1v�!1 � � 1

4
t 5 �3�4 2

u t4 0
0 8

u t3 1
4 2

u � � 1

4
t 20 �24�16 16

u t3 1
4 2

u � t 9 7�4 �4
u 
139- ����D� ��=��0] {�4 1 1

1 2 � $ 1
3 2 3 � ${ � 0 *,%&� -��.  

1  (1 , �4     2 (1 , 4      3 (1 , 5        4 (2 , 5 
 �����3:          | �4

[
1
!

1
[

1 2 � $ 1
3 2 3 � $| � �4 }2 � $ 1

2 3 � $}wzzzxzzzy~2!5~[4

� 1 }1 1
3 3 � $}wzzxzzy!~

� 1 }1 2 � $
3 2

}wzzxzzy
3~!4

� 0 
�4$2 � 24$ � 20 � 0 ⟹ $2 � 6$ � 5 � 0 ⟹ $ � 1 , 540 

140-  CFJ� �������� U!V��� �
�� �� GN @20" �� *$ � 1  *2$ � 1 � 2$ � 3 %&�.  *U!V� %+���,%&� -��.  

1  (60     2( 56      3 (45        4 (39 
 �����1:        

120k�V�# �2$ � 3�2 � �$ � 1�2 � �2$ � 1�2 ⟹ $2 � 6$ � 7 � 0 ⟹ �$ � �1   b b c$ � 7              
& � 8 � 15

2
� 60 

www.konkur.in

forum.konkur.in


